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CLASS-7 Chapter 9 Rational Numbers SUB-MATHS

Ex. 9.1

Question 1. List five rational numbers between:

() —1 andO

(iy-2and —1

L —4 —2
(iii) - and =3
. -1 2
(IV) ? and "3

Answer: (i) —1 andO

y 4 ] h 0
Let us write —1 and 0 as rational numbers with denominator6. and 0 = 3

6’37”727273"76

(i)—2 and —1




Letuswrite.9? and.] asrationalnumberswithdenominator 6.

Therefore, five rational numbers between—2 and—1 would be
-11/6, -5/3, -3/2, -4/3, -71/6.

s —11
(III) T and 5

Let us write _Tloand = as rationalnumberswiththe same denominators.
-11 p—5
6 —<« 3

—35 —34 —33 —32 —31 —30
45<45<45<45<45<45

and

34 11 32 &l ~2
T 8T B b3

4 7
=<3 <

Therefore, five rational numbers betweera_2—3 and %4 would be

-7 —-34 -11 -32 -31 -2

"0 045 * 15 ? 45 7 45 0 3
=T 2
(II)T and 3

1

Let us write and%4 asrationalnumberswiththesamedenominators

—4 .2 4 =36
~ 5 T 3.and 7 T 3

. —3 —2 —1 1 2 3 4

-1 -1
$T<T

—1 1 1 1 2
<F <0<e<3<3< 3

] _
herefore, five rational numbers between and?2 would beT
] (3




Question 2. Write four more rational numbers in each of the following

patterns: (i) . . ..

—3XL3X2 3x4
(') 531 8% B4 !

-1 2 3 4
(i) 5 =75 =130 =34

—3x3
d | E=4 B

12700 °

Therefore, the next four rational numbers of this pattern would be

—3x5 —3x6 —3x7 —3x8 _—15 —18 —-21 —24
5x5 7 bx6 ' B5xT7 7 Hx8 25 7 30 7 35 7 40

—1x1 —-1x2 —-1x3
4x1 7 4x2

Therefore, the next four rational numbers of this pattern would be

—1x4 KON 6 —1xX7" g4 -5 —6 W7
4x4 " 4x5 ' 4x6 ’ 4x7 16’20 24 28

. )
(i, 5 =5 =34

—1x1 1%2 1x3 1x4
6x1 7 —6x2? —6x37 —6x4’

=N

Therefore, the next four rational numbers of this pattern would be

1x5 1x6 1x7 1x8 — 6 7 8
—6x5? —6x67 —6x77 —6x8 —307 —367 —42? —48

-2 2 4
(V) 55 =3, 67 9

—2x1  2x1 22 2x3
3x1 ? —3x1?

=

Therefore, the next four rational numbers of this pattern would be




2x4 2x5 2x6 2x7 _ 8 10 12 14
—3%x4? —3x5? —3x6? —3xT7 ~ —127 —157 —18?7 21

Question 3.Givefourrationalnumbersequivalentto:

(i) =2

ax 8 _ 16 12 = 3
259 13 360 271 20 =Hx
15 15

: : -4 -6 -8 -1
Therefore, four equivalentrational numbers are I Q—f, %, 3—,)0

(i) =

_2><2—2><3 WL, - P —2x4 2 o

22 T3 =T 5T 7 T
147 21 L8 L) w1

Therefore,fourequivalentrationalnumbersar@g’ 35 7MX5 O

... Bx2
. (i) 555

_ 8 4x3 12 4x4 _ 16 4x5 _ 20
T 18 0RO RO TEEE. 36’ 9x5 45

p - 15 5x420 5x5
Therefore, four equivalentrationalnumbersare —;, = TRm T 3.5
—3x3
Question 4. Draw the number line and represent the following rational numbers oniit:




Answer: (i)

(iii)

(i) 3
% % —MMT
-2 -1 0 1
4
8

<

Question 5. The points P, Q, R, S, T, U, A and B on the number line are such that, TR=RS =
SU and AP = PQ = QB. Name the rational numbers represented by P, Q, R and S.
USRT
H———

-2 =1

APQB
H A | SO (Y PO |
I I | L
0 1 2 3

Answer: Each part which is between the two numbers is divided into 3 parts

Therefore, A = P

&
-

=5,Q=; and B=
|
|

t) =3 o4 ; 56 ! )
i i I = = 3
Similarly T = Z-R=—§~, S=%-, dhd U3

—5

Thus, the rational numbers represented Fy Q, R and S are_?5 7 % and

respectively.

Question 6. Whiéh of the fallowing pairs .rggreseqﬂ the sgme rational numbers?
] I
-1 0 1 2




N =T 3
(I) 51 and 9
.y —16 20
(i) 50 and —5F

(i) = and 2

—12
20

—24
(V) —zand —=

(v) = and
8

N 1 -1
(vi) 3 and 5

) 5
(vu)—*g and =5

Answer: (i-);—l7 and

[Converting into lowest term]

.. —1 20

(II) ? and & or
—16
20

-t T
== =

1 —16
= 7#3= 5gand 5

[Converting into lowest term]

[Converting into lowest term]




=3 —12
(iv) = and 20

_ — —12 - . .
= T3 = ?3 and —5- =T3 [Converting into lowest term]

[Converting into lowest term]

[Converting into lowest term]

(vi) = and =

= :_3 :;é—_g}nd_—‘r’z a [Converting into lowest term]

979
.0 L5
9 7& -9
e RV
R
Question 7. Rewrite the following rational numbersin the simplestform:
N D
() =5

(i) o




(iii)_7—f§4

(iv) ;—g

Answer: (i%8 = =5 :%4 [H.C.F. of 8 and 6 is 2]

25 _ 255
)5 = T3
[H.C.F. of 25 and 45 is5]

44 _ —44+4 11

(iii) 5 STl C g [H.C.F. of 44 and 72 is 4]

. —8 _ —82_ — -
('V)T(T 02— F [H.C.F.of 8and 10 s 2]

Question 8. Fill in the boxes with the correct symbol out of <, > and =:

-«
(Vi) 11|Z| 11

(vii) O 5

Answer: (i) — -3 Since, the positive number if greater than negative number.
) Frows = 5w = 57

(iii) 552 1:1(;;(( ) = w7 = 2

(iv) 5%214!:! 47><>i55 = ;?)2 30 - 1

wioT =57




Question 9. Whichisgreaterineachofthefollowing:
2
(i) ER)

(i) 5, =2
(i) 3 5
) =
(v)-32,-3

Answer: (i)

Therefore %g

—5x1 _ =5 . —4x2 _ -8
6<1 6 3<2 6

. 475 —8 —5 =4
Slnceﬁ—T Therefore TT

.. —3x3 _ -9 2><( 4) S—
WTg =waddg 5~ &

. -9 —8
Since ﬁﬁ
Therefore %3_13

(iii)_Tl% Since positive number is always greater than negative number.

o2 -23  —23x5 115 4 —19 _ —19x7 _ —133
W37 === =5 = 5 addz=—5 =5+ =3

_ 5 —1s
Since 110 133

35 35




2 4
Therefore—3 7 33

Question 10. Write the following rationalnumbersinascending order:

~N—3 —2 -1
O35

.1 —2 —4
353

.. —3 —3 -3
(==, 5> 7

-2 -1

Answer: (i)%g, Fos e %3 4 _TZ < _Tl

Question |I. Find thesum:

0t (2)
(ii)_IS +§
(iii)_T?’ +2

PLSE




. 1 3
(vii) —2§ + 43

Answer: (i) %—i— (_11)= -1l _ -6 _

) ) 1
.\ D 3 _ 5x5 3x3 25 9
W3 T533 T53 "B

[L.C.M.of3and 5is 15]

_2549 _ 34 _ 54
15 2

. —9 | 22 _—9x3 2% =27

()55 + 5 “Toxs

[L.C.M.of 10 and 15is 30]

44
15x2 ~ 30 + 30

_ 2744 _ 17
B 7 BEED

(v) == 42 =25 + 2= 20 D [L.CM.of 11and 9is 99]

_ 27455 82
T 09 T 99

- (=2) . —8x3 | (—2)x1_ _—24 , (=2)
M1 T 5 = 9.3 el - 5T T

_—24-2 _ —26
- BT T BT

(vi) ==

[L.C.M.of 19 and 57 is 57]

7/
— 9

i) —24 +42 =L + 2 = 0 4 BB - B 4 B | cM.of3and5is 15]

5 - 3xb Hx3

Question 2. Find:

17
(')ﬁ T




N 7 17 — 7x3 17x2 _ 21 34
A A — — — = al — o i
nswer:{l) o7 = 35 T 3ix3 Bxz T T2

[L.C.M. of 24 and 36 is 72]

_21-34

) —6\_ 5x1 6x3\ _ 5 —18 :
(||)@ - (ﬁ>_ I<1 <21><3) =8 63 [LCMOfGSand21|SG3]

_5-(-18) _5+18 _ 23
“T 63 T 63 63

o —6 -7\ _—6x15 7x13\ _—90 —91 g
(iii) == (1—5> NG ( 15><13) =55 2 ( 195> [L.C.M.of13and 15is195]

—90—(-91) _90+91 _ 1
195 195 195

(=2 _ I ==l 78 _-33 56
8 11  8x1l  1ix8 88 88

[L.C.M. of 8and 11 is 88]

_—19x1 69

o1 1.9 WLCMof9andlis9]




9x(=7)  —63 _ 7
g4 — 8 8

Answer: (i) % X (%7) =

s BT o T
T 21_0




3 S™13 § o1 § 32
12x(—2) 24 T 24




